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q = 69(776.2)/(1562.3) = 32.8 r 33

n2 c 66(292.9)/(1562.3) = 12.4 e 13
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ph NhPhQh Nh ph Qh Nh d/Ph Qh N,  dp,,  Qh dch N, l/E / 4:;

1 0.7 94.1 42147 205.2 290.1 145.1

2 0.7 27.5 3603 60.0 84.8 42.4

3 0.7 17.0 1378 37.1 64.3 21.4

4 0.7 11.7 1449 49.5 85.7 28.6

5 0.7 21.0 2100 45.8 45.8 45.8

182.3 51677

Qh = l-Ph

rd Y
n. xmmxt~~tti~~i~fu

397.6 570.7 283.3

n = '-+fPhQh@*d2/Z2+  tNhPhQh)

= ~(~~~~~)/(~~~)*(0.05)*/(~.~~~)*+182,31{
= 296

“h = nil = 296/5&o

1. z%lasxYlJn"ii?u

n = N~NhP~Q,& 2d2/&~hP,Qh  )

= 868(18*.3)~(868)*.(0.05)*/(1,645)*+182.3),  181
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